
SAP ABAP table /DSD/HH_RACVHD_S {Structure of Customer Visit}

_DSD_HH_RACVHD_S

CLIENT [CLNT (3)]

TOUR_ID [CHAR (32)]

CUSTNR [CHAR (10)]

VISCOD [CHAR (2)]

CNGUSER [CHAR (12)]

_DSD_HH_RAHD

CLIENT [CLNT (3)]

TOUR_ID [CHAR (32)]

 /DSD/HH_RACVHD_S-TOUR_ID = /DSD/HH_RAHD-TOUR_ID 
0..N

1

_DSD_HH_RAVISCOD

CLIENT [CLNT (3)]

VISCOD [CHAR (2)]
 /DSD/HH_RACVHD_S-VISCOD = /DSD/HH_RAVISCOD-VISCOD 

1

1
KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 /DSD/HH_RACVHD_S-CUSTNR = KNA1-KUNNR 
0..N1

T000

MANDT [CLNT (3)]

 /DSD/HH_RACVHD_S-CLIENT = T000-MANDT 

0..N

1

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 /DSD/HH_RACVHD_S-CNGUSER = USR02-BNAME 

0..N

1


